
Math Numbers Operations and Algebra 7_6

Student Name:________________________________ Date:____________________

1. 

Bill owes $20.00. 

He gets $25.00.

How much $ can he keep?

A. $20.00

B. $15.00

C. $5.00

  

2. 

shirt = $14.99

pants = $27.00

sweater = $36.99

About how much $ in all?

A. $100.00

B. $80.00

C. $50.00

3. 

Estimate:

3.44 + 2.27

A. 7

B. 6

C. 4

4. 

Estimate:

7.4 × 5.7

A. 48

B. 42

C. 30



5. 

94.28 − 30 is about .

A. 94

B. 124

C. 64

  

6. 

8 = 11x + 2
3

x = 

A. 3
2

B. 2
3

C. 3
4

7. 

(2 + −7) × 3 = 

A. −27

B. −15

C. 12

8. 

Marco has $18.00 balance in his
account.

He writes a check for $23.50.

What is his balance now?

A. $5.50

B. $41.00

C. −$5.50



9. 

29.6 + 5.1 is about  .

A. 34

B. 30

C. 35

  

10. 

−8.0(−9.0) = 

A. 67.0

B. 72.0

C. 1.0

11. 

4 × (−5.5) = 

A. −1.5

B. −22

C. −25

12. 

A groundhog digs a hole 14.5 feet into
the ground. A farmer puts in 12 feet of

dirt. 

Which shows how far into the ground
the hole is now?

A. 14.5 + 12

B. −14.5 − 12

C. −14.5 + 12



13. 

6.7 − (−2.2) = 

A. 8.9

B. 4.5

C. −6.2

  

14. 

3y = 7 + 17.9

y = 

A. 8.3

B. 24.9

C. 6.4

15. 

5.6y − 17 = 11

y = 

A. −6

B. 5

C. 2

16. 

24 × (−3) = 

A. −27

B. −54

C. −72
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